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The figures in the rnargin indicak ruurks oJ'cluestktn.

Candidates showld an,yter in their own v,,ords

and qdhere to the worcl limit as prat:ticable.
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Answer a*y twa questions from the t<lllor.ving: (within 300-400 words each)

ffiF$ C:q-C€fffif ffiqrffi €E{ r{l(is (qf=\om \eoo-Boo xfffiB :T(ry)

(a) Write dolvn the salienl; features of Parapithecus.
qriafFir.ffirfr-{ ffitBefr f,qril I

(b) Briefly discuss atnut tr{omo habilis.

alrut qlfrfrq q*a;6{'q6a6ql +-rat r

(c) State ttre characteristic features of Grimaidi.

lQxlt-d&a hfiBv*fr Brmq <p"6$t r

(d) Write a short note on Ram,apithecus.

<rlqrprarstlr.s E t< .qsffi x&S ElEt oett I

Answer any five questions from the following: (w'ithin 25-30 words each)

ftyfrF55 R-r$'rrd qtle'E em<'Bs< kl'g: ieftF Q.ft-rro ,trqi-< w.{l)

(a) Name twr: Oligocene anthropoids.

fF qFir*t&-.r -\qx{calt'lrrrs< atx Srsqt ncnt i

(b) What is tooth comtr?
qsB+ftlh t

Marks:40

*a6-e- frax 5t4rE cgttfi Erqv qLq ffit oR t
4Prylffyw &rc-s ulw v{f fle.{ qqfrqts q&l
6wftre qmr

5x2: l0

1x5:5

Answer any two questions fromthe following: (within 800-1000 words each) T0x2:2A
fiffifr.iai\o m-f+-iil;fi rF ,gf*< Es< ltles (efeft troo-)ooo *,r[q< -{X$)

(a) Who rvere the Ndiocene apes? W"ite dou,n the salient features of any one Miocene 2+4+4
ape with phylogenetic position.
,:q1-6g11fi4 

€+1,<rl3rt ? Gi-6s1ffi esfi :qfcilfr-"i.{(el{t{FtB q fr-+6qrr q<Ef{ rrH}r
(b) Discuss about Classic Neanderthals and Progressive Neanderthals. 5+'5

trifr"'s ft-{Ftst<crlry s ec'$frs frxtqgrqirry q*'m'wlmr{T sz$t r

(c) Write down a note on trio-cultural evolution of human, with ernphasis on expansion 10

of the brain, reduction of face, jaws and teeth.
rrfuffiK qqf{E, T{, ffi'l{If, s d"reT erfi-{ ts+ill qlrel?F lro +.ffi qrtary-{ ?w< ni$B+
ffid< S't< esft fr-<-s ffi-c<ff r

(d) Who were Chancelade? tsriefly state their distribution, features and phylogenetic 2+2+4+2
status.

sir.drr{r{-s sl$ ? q(r.s["r ,{rq-{ saf{hs frsH, ?<fiB E fr<6{5ts qrcr{ q31a/q6a[tr.{t
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(c) What is hominization Process?

RfiT{ftk-l:{ Emqfr I
(d) Who were the Progressive Nt:antic'r'thals?

eft,stss ft$r+sHqrrq +-t<l ?

(e) W'hat is Y-5 cusp pattern?

'Y-5', rs[s-tfr ?

(f) V/ho is kncwn as 'I{and-v Man'?

'QJIRirilIq' ;lilF ffit "iRFu 7

(g) Who discoverecl the Java h4an?

'61v1:q1'p.1' [$ WfrSf{ qffiRrarq r

(h) Who discovered the Chancelade Man?

'ElF[c{-(4u qlr.l' 6s qtR+lrt s{3&ffiE ?

(i) Which fussil has been namecl as Luc,vi'

qfi a.m m]-< ,filqrr.&s qtxs(6J s<l qfficq 2

4. Choose the correct ars'i4er ftr:m the f.ollc-'u'ing:

qffi-s bo.{ft f;i{6a q-(rts

{a) Pithecanthropus rvas discovered by

(i) Raymond Dart (i1) L" S. B. Leakey (iii) Eugene Dubois (iv) h,{ary Leakey

f"ftersiFlrstqrq m qlfr${ omRtqq :

iq m-w uff (ii) qE. €q" R. frft iiii) ?geq v<l-:,rrq (iv) r*tt ftfr
(b) l-he 

-l'aung Child is the lossilised skull of -

(i) I{oma erectLts (ii) Neanderthal (iii) Austnalopithecus (iv) }iomo sapiens

ut6r, Drkr< TRK ,XA-{ €.Kpq €i _
(i) dQ"try/ {rd-aq (ii) firfw-{al}1-4 (iir) qstesnFrqmq (iv) c{m qll1aLq-q

(c) Sivapithecus was discol'ered by

(i) G. Edward Lervis (ii) Eug€ne l)uberis (iii) R.aymond f)art (iv) I-. S. R. Leakey

fr'offarzqrotcn< qtft+si amq -
(i) &. ,{usrldfrSq (iqlp{q-;l gqcrq

(iii) i$r,s 'slE (iv) €*"i. .{E. ft" frfr
(d) Homo hubili,s rvas discovered llom

(i) Europe (ii)'fanzania (iii) Germani' (iv) Russia

r{trsr atffiF1Y wfits aLqR4

(il egmq (ii) \rt+wtfr$ (iii) stt{'R (iv) rrftxl

(e) Dr,vopithecus lvas discor,'ered try

(i) C. Edward Ler.vis {ii) Edouarii t.artet (iii) Eugdue lJubois (iv) Raymond l)art

etffifq?er+t:ti qk$la +zr&tar+

(i) &. ,$B-s?ll6frEr (ii) ,{Y€fl6n11ffi (iii) epftrq v{mq (iv) Grl-'s sff

1x5:5
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